ANSW 1S

Complete the following practice problems b > l O Z b 4,

1) Determine if the following exponential functions represent a growth or decay situation.
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2) Since 1980, the population of the city of Brownville has grown _&ggdmg to the mathematical model

1 = 720.500(1 022! “herex is the uwl\)cr ears since 1980. q nw

E—r oW FACHIF
xplain yhat the \alues 720,500 and 1.022 represent in this model. 022
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b) What would the population be in 7000 if the growth continues at the same rate" X p)
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¢) What was the population of Brownville in 19752 (Hint: you are finding the populatlon be rc 1

Y= 2 pace N -HML
=720,5 .022

3) A population of 800 beetles is growing each month ata rate of5%

a) Wnteanequauo:-th-;cgsg;thenwnberofbceﬂesammex loo +5/ — 'Dg / — \ 05
Y= 800(1.05)*

About h beetles will there be in 8 ?
b) About how many es will there be in 8 months —’ X
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Y=800(1-05) 8 » 1190 = |18 | beetes

4) Your new computer cost $1500 but it depreciates in value by about 18% wch xgg

a) Write an equation that would indicate the value of the Computer at x years ' 6 / 88 2’ /
Y=1500(.82)" =0-0Z

b) How much will your computer be worth in 6 years” -~ x

Y=1500(-82)° $5 Y



